Exercice en deux temps - Partie A + B1, B2, B3

Cwmag?

% NS
A'_ N
N
|M.;
Jvl
Q
| I
Syl
lmﬁ =3
= <h
EXN S
=0
ol SR
_LON\
M..’

Ao 1m1a1
MU TV .

oM’

e

O

domai

[§)

( X

(

[ ]

S E
5° S

[ -
<2 ol
2 T e
o |[a T

AN

(

" ®
p> _ ol
5 |
=
<J

O 07@\%

.

( N

hi

Qe

e

il
{ S
AF rmw
L
= || __ 5815
]

( .
\ M
|
|

AY
J
iy
| &
( I R
\
= —— oofioo)
=
(@ ]
NG DNYF




¢
AN
-
<S5
.thJ
3
™Yy (D
-IM B
(@)
AN
S =«
S
o L\I.U
S ol [
R o &
& E:
€ Ihs
s .
o
N NG

e}
A
X
= e
®
N
-l
<9
L %
1] me
) 3
ol [«
S =
(@
=
|
N
-I
<q
an g
h
> i
o In
ol MW
S N
s ¢
NG NG

[ Y

Partie B- deuxiéme choix
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Partie B- troisieme choix
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